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a) Consider the series Z ———Thena, = cememie: Lt b, = ..t Ther
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...[d.<a, <b, for large n and the series Z b. = Z B converges to the real
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number ... .Then, by the .. wm?m 1500, test, the series z = i
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b) If f(x)= Zan(x +1)", a_ >0 and if the series converges at x =%,then
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()= Zan(x+l)" is valid in an interval about X =....=%. which contains the point
n=0
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X % .The minimum value of the corresponding radius of convergence R is /.{Z .. Thus, th
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series Z converges to —Jf(x)dx where C = ceeee SINCE X =...viesee... ShoUL
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lie in the mterval of convergence.

=1

1 ])ﬂ-r'l ]
= +
Z_aﬂ (x+ % |
‘F(/ n+1 C
X =
- _)n-ri
ol / (c+! >
- 'r‘\ -..-.‘..__._,-—'-
/ an V- N+ 1
e N+ | ==l = C:-—Z
= (ex) cxl®
~ ar'\ y
- e ;‘1"'1
neo
0|
k- (-\]
) bn * —
= =~ (- n+1



